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Which of the following is odd one w.r.t.
Mycoplasma?
1) They are obligate anaerobes
2) They are Jokers of plant kingdom
3) They do not perform photosynthesis
4) They are said to be bacteria with their coats
off

Which group of bacteria play an important role
in recycling nutrients like nitrogen, phosphorus,
iron and sulphur during metabolism?

1) Photolithoautotrophic bacteria

2) Chemosynthetic autotrophic bacteria

3) Photoorganotrophic bacteria

4) Chemoorganotrophic heterotrophic bacteria

A homosporous species in which rhizoids are
found is

1) Funaria

2) Salvinia

3) Porphyra

4) Selaginella

Inconspicuous, small, multicellular, free living
photosynthetic thalloid gametophyte is found in
the life cycle of

1) Cycas

2) Pinus

3) Dryopteris

4) Ficus

Male gametes are non-motile in
1) Ulothrix

2) Marchantia

3) Spirogyra

4) Volvox

In monocotyledonous plants lateral roots arise
from

1) Endodermis

2) Pericycle

3) Cortex

4) Pith

01.

02.

03.

04.

05.

06.

Leitau(meueteuBmled  enodGamLlemTerdLom
CUTBHSTHSHI?
1) iemeu &L LTl STHBRe060T (LpenM
2) SIaUTH6IT ST 26056 T H6l
3) simal allFBFTHma CFUIaIHm60
4) Sienal L FF D6l SHI6TIQ &L L
LTSIl WITSSH6NT 61611l SnBLILBS B

L3S

alenfdlend IBBSHHr  GuTghl  eNBL 6T,
umeroLITerd, @by WwBmID  ShHED  Cures
o’ | FF5HGH|HHm6N oI GFulsugle0
ursleflwreler  6bhd G (PSS LRIG
U bHBHI?
1) seaflo geflFaiy e’ I uTdhlefluinicser
2) BGoudFBadhend e’ L Limiefluwim
3) &iflo el Famiy 2’ L LTdleflwibisern
4) sMio Geud)FamiL| 2’ L (penm LITdlefluimiaer

I FTUIBHSH6T STEILILGL @SHHalHDHH SHINLD
OamewiL Fmpilerd

1) . .yeormflwam

2) gmevaiefluim

3) GumiyLigm

4) QF608) GlasTe060T

saiamIbGHdH O fluns,  Ffw,  ueFe,
SHHTRNFMF UTDHME Qe FCFTHME HTeOTUIH
CaLCLmedul BFH6 auTpdmdF  SipBdFluied
ST LGS MBS
1) maasmerd
2) emLieuTern
3) 19y GuITIGIL_flerd
4) . 9serd

601 CHLALHHET S 6160616V
1) o Geurdiflderd
2) Wjsesiaguim
3) eroemuBymalym
4) aumeuBaurmderd

RHalHHemevd Hreugmiberiled LSBT B CouJmel
BF0BHS 6136

1) erem@LTOL 10610

2) Quifleng et

3) Lo

4) 195

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.youtube.com/@Padasalai-net

07.

08.

09.

10.

11.

www.Padasalai.Net

Floral formula of Allium cepa is
d
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The supporting roots coming out from lower
nodes of the stem in maize are

1) Prop roots

2) Stilt roots

3) Adventitious roots

4) Tap roots

Select the incorrectly matched pair.
1) Palmately compound leaf — Neem
2) Whorled phyllotaxy — Nerium

3) Reticulate venation — Peepal

4) Leaf Tendril — Sweet pea

Mark the incorrect statement w.r.t. golgi

apparatus.

1) First observed by Camillo Golgi is 1878

2) Important site of formation of glycolipids and
glycoproteins

3) Involve in process, package and transport of
materials

4) Root cap cells are rich in golgi bodies which
secrete mucilage for lubrication of root tip

Identify the labelled parts A, B, C and D in the
below given cross-section of flagella and select
the correct statement regarding one of them.

L

(%)

1) D — Central sheath covering the central
microtubules

2) B — Flagellar sheath covering the central
sheath

3) A — Microtubule singlets arranged radially
along the periphery

4) C — Central microtubule connected to each
other by radial spoke
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Mitochondria and chloroplasts are believed to be

bacterial endosymbionts because of the presence

of

1) Their own nucleic acid, 70S ribosomes and
porins

2) Double membrane

3) Plasmids

4) RNA and 80S ribosomes

In Drosophila, white eye mutation leads to
depigmentation in many other parts of the body.
This phenomenon is referred as
1) Co-dominance
2) Pleiotropy
3) Incomplete dominance
4) Epistasis

In geometric growth, the initial growth phase is
1) Stationary phase

2) Log phase

3) Lag phase

4) Exponential phase

When bacterial flocs are allowed to sediment in
the settling tank, then it is known as

1) Secondary effluent

2) Debris

3) Primary sludge

4) Activated sludge

Conidia is an asexual reproductive structure in
1) Penicillium

2) Hydra

3) Sponges

4) Amoeba

The rate of formation of new organic matter by
consumer is defined as

1) Net primary productivity

2) Gross primary productivity

3) Secondary productivity

4) Primary productivity

In angiosperms, how many nuclei are involved in
double fertilization and in triple fusion
respectively?

1)5and 2

2)5and 3

3)4and 2

4) 4 and 3
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Find the correct statement w.r.t. pollen grain ‘the

male gametophyte in angiosperms’.

1) Cell wall of pollen grain is called sporoderm,
which consist of three layers

2) They have prominent aperture called germ
pore where sporopollenin is present

3) Generative cell in two celled pollen grain is
spindle shaped small cell and floats in
cytoplasm of vegetative cell

4) Shedding of pollen grain takes place at three
celled stage in 60 percent angiosperms

Select the correctly matched pair.
1) Ornithophily — Snakes

2) Chiropterophily — Snails

3) Malacophily — Bats

4) Entomophily — Insects

The plasma membrane of RBC has sugar
polymers that protrude from its surface and the
kind of sugar is controlled by gene I. In human
population, the number of alleles of gene I is
1) Five
2) Two
3) Four
4) Three

A tall pea plant is crossed with another tall pea
plant. Only half of the total tall plants, produced
in F1 generation, after selfing, further produce
only tall plants. If we represent T for dominant
allele and t for recessive allele of height, then the
genotypes of parent plants were

DTT x Tt

2)TTxTT

3) Ttx Tt

4)TT xtt
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Match the following.
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a. Hugo de Vries, | i) X-body
Correns and
Tschermak

b. Sutton and Boveri | ii) Genetic map

c. Alfred Sturtevant | iii) Chromosomal theory

of inheritance

d. Henking iv)  Rediscovery  of

Mendelism

1) a(i), b(ii), c(iii), d(iv)
2) a(ii), biii), c(i), d(iv)
3) a(iv), biii), c(ii), d(i)
4) a(iv), b(iii), c(i), d(ii)

Read the following statements carefully and

select the correct one.

1) Transcription and translation take place in the
same compartment only in eukaryotic cell

2) Transcription in prokaryotes is catalysed by
three types of RNA polymerases unlike
eukaryotes

3) Peptide bond formation during translation is
catalysed by 23S rRNA in eukaryotes and
28S rRNA in bacteria

4) Structural gene in transcription unit is mostly
monaocistronic in eukaryotes and
polycistronic in bacteria

In which of the following organisms translation
can begin much before the mRNA is fully
transcribed?

1) Amoeba

2) Bacteria

3) Fungi

4) Volvox

What will be the approximate length of DNA in
a human diploid nucleus if total number of base
pairs in it is 6.6 x 10°?

1)6.6 m

2)1.36 m

3)11m

4)2.2m

27. Which of the following scientist is the initiator of

"Lab-to-land" programme?
1) M.S. Swaminathan

2) Norman Borlaug

3) Herbert Boyer

4) Panchanan Maheshwari
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Given below are four statements (A-D) each with

one or two blanks. Select the option which

correctly fill up the blank in two statements:-

(A) Cilia are small structure which work like
___, causing the movement of either the cell
or the surrounding fluid.

(B) Normally, there is only one ___ per cell.

(C) The __ chromosome has centromere
slightly away from the middle of the
centromere whereas the _ chromo-some
has terminal centromere.

(D) Chromatin contains DNA and some basic
protein called

1) (A) (i) Oars, (B) Mitochondria

2) (B) Nucleus, (C) (i) Acrocentric,
Telocentric

3) (D) Histone, (C) (i) Sub-meta centric, (ii)
Telocentric

4) (D) Non — Histone, (A) (i) Oars

(i)

Which of the following is heteropolymer:-
1) Protein

2) Inulin

3) Glycogen

4) Starch

When the common characteristic goes on
decreasing:-
1) As we go higher from species to kingdom.
2) As we go lower from kingdom to species.
3) As we go both lower & higher in taxonomical
hierarchy
4) None of these

Pathogen and related disease are given, match the
correct pathogen of its causing disease:-

i)B acteria |A) Potato spindle tuber disease

ii) Fungi  |B) Leaf rolling and curling

iii) Virus  |C) Wheat rust disease

iv) Viroids |D) Citrus canker

1) i-D, ii-C, iii-A, iv-B
2) i-D, ii-C, iii-B, iv-A
3) i-A, ii-B, iii-C, iv-D
4)i-C, ii-D;, iii-B, iv-A
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2) i-D, ii-C, iii-B, iv-A
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Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.youtube.com/@Padasalai-net

32.

33.

34,

35.

36.

37.

www.Padasalai.Net

Amensalism is an association between two
species where
1) one species is harmed and other is benefitted
2) one species is harmed and other is unaffected
3) one species is benefitted and other is
unaffected
4) both the species are harmed

Function of stem is :-

1) To bear leaves, flowers and branches.

2) Conduction of water and minerals to leaves.
3) Conduction of food (photosynthates)

4) All of the above

Match the following.

Blood-cholesterol
lowering agent

a. Cyclosporin-A | i)

b. Streptokinase | ii) Immunosuppressive

agent

c. Statin iii) Clot buster

d. Pectinase iv) Helps in clarifying fruit

juice

1) a(i), b(ii), c(ii), d(iv)
2) a(ii), biii), c(i), d(iv)
3) a(ii), bii), c(iv), d(i)
4) a(iii), b(ii), c(iv), d(i)

Select the correctly matched pair w.r.t.

adaptation.

1) Physiological adaptation — Desert lizard
survival above and below optimum
temperature

2) Behavioural adaptation — Altitude sickness

3) Morphological adaptation — Heterophylly in
Buttercup

4) Anatomical adaptation — Phylloclade in
Opuntia

The significance of co-evolution is seen in
1) Ophrys — Colpa, a species of bee

2) Balanus — Chathamalus

3) Abingdon tortoise — Goat

4) Sparrow — Seed

The vertical distribution of different species
occupying different level is found to be most
diverse in

1) Deep sea

2) Tropical rain forest

3) Desert biome

4) Temperate forest
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1) a(i), b(ii), c(iii), d(iv)
2) a(ii), bii), c(i), d(iv)
3) a(ii), biii), c(iv), d(i)
4) aiii), b(ii), c(iv), d(i)
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Exploring molecular, genetic and species level
diversity for products of economic importance is
called

1) Biodiversity

2) Biopiracy

3) Bioremediation

4) Bioprospecting

Historic convention on Biological Diversity,
‘The Earth Summit’ was held in
1) Durban in 1992
2) Rio de Janeiro in 1992
3) Brazil in 2002
4) Johannesburg in 2010

During M-phase of cell cycle, which of the

following processes does not occur?

1) Decondensation of chromosomes

2) Dispersion of cell organelles

3) Attachment of microtubules of spindle fibres
to the kinetochores

4) Synthesis of DNA and tubulin protein

A small protein compound attached to the outer
surface of inner membrane of mitochondria and
acts as mobile carrier for transfer of electrons
between complex Il and IV is

1) Cytochrome c

2) NADH dehydrogenase

3) Cytochrome bcy

4) Cytochrome a

Which of the following is a greenhouse crop?
1) Maize

2) Tomato

3) Sugarcane

4) Sorghum

. Photophosphorylation system that operates under

low light intensity and anaerobic condition, is

characterised with

1) No need of external electron donor

2) Involvement of photosystem |
photosystem Il both

3) Synthesis of NADPH only

4) Synthesis of ATP and NADPH both

and
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Total number of ATP molecules formed from
complete oxidation of one FADH. and three
NADH molecules is

1) 10

2) 11

3)8

4)9

Read the following statements

(I) Gymno sperms include medium size tree or
tall trees, shrubs and herbs.

(1) In cycas coralloid roots are associated with
mycorrhiza.

(1) In conifers needle like leaves reduce the
surface area.

(IV) The gymnosperms are heterosporous. How
many above statements are correct and

incorrect:-
1) 1l - Correct, Il - Incorrect
2) 111 - Correct, | - Incorrect
3) I - Correct, 111 - Incorrect

4) 0 - Correct, IV - Incorrect

If AB and O blood group are present in the
offsprings of a couple which is true for this
couple:-

1) Both are homozygous

2) Both are heterozygous

3) They have AB and O blood group

4) They can donate blood to any one

In which of the following inheritance phenotype
of F1-hybrid does not resemble with either of it's
parents:-

1) Incomplete dominance

2) Codominace

3) Polygenic inheritance

4) All of above

Cnidoblast containing tentacles are characteristic
of

1) Aschelminthes

2) Coelenterates

3) Platyhelminthes

4) Ctenophores
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Choose the correct statement

Aschelminthes.

1) Members are commonly called flatworms.

2) They may be free-living, aquatic and
terrestrial but not parasitic on plants.

3) Alimentary canal is complete with a well
developed muscular pharynx.

4) Sexes are separate and often males are longer

than females.

regarding

Nereis and Hirudinaria are members of the
phylum

1) Arthropoda

2) Annelida

3) Mollusca

4) Echinodermata

Choose the odd one w.r.t. phylum Coelenterata.
1) Radially symmetrical

2) Organ level of organisation

3) Diploblastic

4) Gastro-vascular cavity

Select the odd one w.r.t. location of squamous
epithelium.

1) Wall of blood vessels

2) Wall of Bowman’s capsule

3) Alveoli of the lungs

4) Inner surface of oviducts

Type of connective tissue present in the tip of
nose whose matrix is solid and pliable is

1) Areolar tissue

2) Dense regular connective tissue

3) Cartilage

4) Dense irregular connective tissue

54. Which mouth part of cockroach acts as lower lip?

1) Labrum
2) Mandible
3) Maxillae
4) Labium
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Identify the following structure and select the
correct answer among the options given below.

NH,

rwj
07N
H

1) Uracil Nitrogen base
2) Thymidine Nucleoside
3) Cytosine Nitrogen base
4) Tyrosine Amino acid

Secondary metabolites like carotenoids and
anthocyanins are

1) Lectins

2) Essential oils

3) Alkaloids

4) Pigments

Given below are some proteins and their
functions. Choose the mismatch among the
following.
1) Collagen — Intercellular ground substance
2) Ossein protein — Intercellular ground

substance in bone

3) Myoglobin — Oxygen storage protein in blood
4) GLUT-4 — Enables glucose transport into cells

Select an aromatic amino acid from the options
given below.

1) Lysine

2) Serine

3) Tryptophan

4) Glycine

59. Which of the given enzyme catalyses the transfer

60.

of specific groups other than hydrogen from one
substrate to another?

1) Transferases

2) Lyases

3) Isomerases

4) Dehydrogenases

How much CO: is being delivered to the alveoli
by 1000 mL of deoxygenated blood?

1)4mL

2) 40 mL

3) 400 mL

4)4L
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The maximum number of neurons in the human
body are

1) Unipolar

2) Bipolar

3) Multipolar

4) Pseudounipolar

Mammals have the ability to produce
concentrated urine. Which regions of the
nephron play significant role in this process?

1) Henle’s loop, Bowman’s capsule
2) Malpighian corpuscle, vasa recta
3) Henle’s loop, vasa recta

4) PCT, DCT

Which of the following statements is not correct

about ANF?

1) Increased blood flow to atria causes release of
ANF

2) Acts as a check on Renin-Angiotensin
mechanism

3) Can cause vasodilation and thereby decrease
blood pressure

4) Increases GFR by increasing blood pressure

Which type of joint is present between humerus
and pectoral girdle?

1) Cartilaginous

2) Ball and socket

3) Hinge

4) Pivot

Number of parathyroid glands present in humans
are

1)2

2)4

3)6

4)8

Body under the influence of adrenaline will not
show

1) Reduced peristalsis

2) Dilated pupil

3) High glucose level in blood

4) Increased secretion of insulin

All of the following hormones are secreted by
adenohypophysis, except

1) LH

2) ICSH

3) PRL

4) ADH

www.TrbTnpsc.com
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Choose the odd one w.r.t. natural methods of
contraception.

1) Rhythm method

2) Coitus interruptus

3) Lactational amenorrhea

4) Depo-Provera

Identify the correct set of STIs mentioned below,
which are caused due to viral pathogens.

1) Syphilis, Genital herpes

2) Trichomoniasis, AIDS

3) Genital herpes, Genital warts

4) Gonorrhoea, Genital warts

Origin of most modern mammalian orders
occured in
1) Cambrian period
2) Tertiary period
3) Permian period
4) Silurian period

Evolutionary process giving rise to new species
adapted to new habitats and ways of life, is called
as adaptive radiation. Select an example of it.

1) Darwin’s finches in Galapagos Island

2) Industrial melanism

3) Wolf and Tasmanian Wolf

4) Numbat and anteater

Which among the following had smallest cranial
capacity?

1) Homo habilis

2) Homo erectus

3) Neanderthal man

4) Homo sapiens

Lady bird (Beetle with red and black marking) is
used as biological control of?

1) Mosquito

2) Aphids

3) Dragonflies

4) Jassids

Incorrect about cardiac muscles is:-
(a) non-striated

(b) voluntary

(c) muscles of hollow visceral organs
(d) Unbranched

1c

2) b, c

3)c,d, b
4) a,b,cd
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Thick myofilaments are made of:-
1) Dyenin

2) Myosin

3) Kinesin

4) Actin

"Trichoderma’ which are used as biological
control agent for different plant disease are:-
1) Viruse
2) Free living fungi
3) Free living Bacteria
4) Simbiotic Bacteria

Keratin of skin does not support viral replication
or penetration by bacteria.Skin forms
barrier of acquired immunity

1) Physiological/Cytokine

2) Physical

3) Cellular

4) None of these

Find incorrect statement with regard to meiosis:-

1) During meiosis only a single cycle of DNA
replication take place.

2) In Anaphase - | sister chromatids remain
associated at their centromeres.

3) Diakinesis represents transition to metaphase

4) Four haploid cells are formed at the end of
meiosis-11 which are genetically identical.

The lysosome differs from the ER because it's:-

1) having unit membrane

2) bear ribosomes on their surface

3) Enzymes optimally active at acidic pH

4) Site for formation of glycoprotein and
glycolipids

Every chromosomes essentially hasa __ on the
sides of which disc shaped structure called
are present:-

1) Satellite, NOR

2) Secondary constriction, centriole

3) Primary constriction, centriole

4) Centromere, Kinetochores
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3) sefidhgl eumpLd Liméslefluim
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2) BuwimBLiued
3) QFevoayIeuT
4) Benal gHINe0m6V

Wwndlerd UBBIW HeUBTET FnBeNB  HEWILBIHS

GBHILIG.

1) wwrdflendesiGurg DNA afest i 1giumged 60
(b GBI BGW gBUGBBII.
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1) @Benm UL 6vlD CBTewIBoiTeNn).
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QUBMICTETS).
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a6UGeurm &HCITGLTGambaEHD SIGHWTeudWILDTS
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2) @yewiLmbBlenev S(HbaID, GF e MGuITed

3) (PHeLHEM6V Fi(THEBBLD, GlFen MGUITeD
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Read the following statements and give the

answer as asked below:-

(A) The cell wall of fungi is composed of chitin
and polysaccharide.

(B) Members of phycomycetes are facultative
parasite on plants.

(C) In Ascomycetes asexual spores are called
ascospores.

(D) In Basidiomycetes vegetative repro-duction
by fragmentation is common.

How many statements are correct?

1) One

2) Two

3) Three

4) Four

The genome of HIV, the causative organism of
AIDS is made up of

1) ssRNA

2) ssDNA

3) dsRNA

4) dsDNA

All of the following are lymphoid organs, except
1) Thymus

2) Bone marrow

3) Spleen

4) Kidney

Which immunoglobulin  most
activates histamine secreting cells?
1) IgM
2) IgA
3) IgD
4) IgE

importantly

Structure of antibody is represented as
1) Hala
2) Hil»
3) HoLo
4) HaL1

Match the following.
a. Typhoid i) Haemophilus influenzae
b. Pneumonia ii) Rhinovirus
c. Common cold | iii) Wuchereria bancrofti
d. Elephantiasis | iv) Salmonella typhi

1) a(iv), b(iii), c(ii), d(i)

2) a(iv), b(ii), c(i), d(iii)

3) a(iv), b(i), c(ii), d(iii)

4) a(iii), b(i), c(ii), d(iv)
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SDHWIL FnBBIHN6LI LIgSHSH| allenL 6.

(A) yehmssaileal OFeOHIT MBL 16T  LOBEBID
UTeSFTHSHEMILT60 LTSI

(B) enuBsmenindl 60 @ i leniaelt Bleneolommid
ST & T 13165016001 61T

(C) oevBsTarv@uiasl, &LerBHTMFL H6rfled
uTedleom eroGUNTH6IT QG LD.

(D) Gurgieuts QuABWIT endl (Hdellsd 2 L 6o
B a1 16L(HEHSHID SHIGTILTFH60 CLPGVLD
BOL OUBISBS).

THBHMDNDH FnBBIB6T Fiuimerg?

1) One

2) Two

3) Three

4) Four

quILerd  Gpmuis@  smyewromer o uliflwimen
HIVuflesr oyueml 2 (Heurd sl BeiTendi
1) sSRNA
2) ssDNA
3) dsRNA
4) dsDNA

LeiTeu(hLIEne  SIMSITSHHILD BleWwIHT 2 MILIL|SH6NT,
Bms Hally
1) engLoerd
2) 61VIDL| LDERem e
3) wewrenfyed
4) fpieb

AmlerOL_enLO6HT & @GHLD OF60HMm6N L& (LPSHSIILOTES
QFWeOLIBHSHHID BLbu}Bentt &BenTLel6T 613517

1) IgM

2) IgA

3) Igh

4) IgE

SLETQLITIQU 68T
GBI LIuGE B
1) Hals
2) Hilo
3) HoL
4) HoLy

DIGMLOLIL| Baieury

LedTeu(meueasieuBenmLl GLImHoHHaLD.

a. enLumui(p 1) an§Buomieverd
©)601.".LIt6THULIGIT6YOM

b. BGwmefluim i) enyBemmenauyerd

C. gngmyewt Fofl | 111) o Faffluwir . .ureiadymig

d. wrenedsted | 1V) gmeuBomGereveor el . .11

Gpmu

1) a(iv), b(iii), c(ii), d(i)
2) a(iv), bii), c(i), d(iii)
3) a(iv), b(i), cii), d(iii)
4) a(iii), b(i), c(ii), d(iv)
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87. Which of the following techniques is/are used for

88.

early diagnosis of a disease?
a) rIDNA technology

b) PCR

c) ELISA

1) Only a

2)Onlyaandc
3)Onlyaandb

4)a,bandc

In electrophoresis, the separated DNA can be
visualized only after staining the DNA with a
compound known as

1) Haematoxylin

2) Eosin

3) Ethanol

4) Ethidium bromide

89. Which of the following palindromic sequences is

90.

recognised by EcoRI?
1) 5G'AATTC3’
3’CTTAA:G5’

2) 5°CCC'GGG3’
3’GGGCCC5’

3) S AGT'ACT3’
3’TCATGAS’

4) 5’G'GATCC3’
3’CCTAGG5’

Maximum number of transgenic animals are
1) Sheep

2) Mice

3) Goat

4) Monkey

16

87.

88.

89.

90.

www.TrbTnpsc.com

Qm  GCpredw (&gl 19CW  HWILMSeUBBE
LTeSTeu(HLD I LIkIS6T60 6781 LWGTLIGSHSHUILIGS B ?
a. IDNA Gamifledmit Lib
b. PCR
c. ELISA
1) Only a
2)aandc
3)aandb
4)a,bandc

WetempLifiied, Wflésiu et DNAeme,
Bsaile FTGLBSIW LIBEGST6T LMo (LpIQULD.
1) anfiom_réFedesr
2) mdlent
3) 615660
4) erdHiguiid LBymenio®

ereu(md Lmedew_Gymid CHTL Tauflengseiled 615
EcoRI g60 omidsfaaiiu L g?
1) 5’G'AATTC3
3’CTTAAGS’
2) 5°CCC'GGG3
3’GGG1CCCH’
3) ’AGT'ACT3’
3’'TCA1TGAS’
4) 5°’G'GATCC3
3’CCTAG;G5’
wyueml Byl efleumiGaeiear  SIFHEUlF
6T6U0T 60011 6N &
1) Ggibiogs eyB 6N
2) 61606
3) a6
4) GImis
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